MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

CHALLENGE Hame
Time: Score:

s) (.11 x 0.89 = 6 —0.11 x (=0.7) =
12 —5 x (—0.0483) = 557 0.01 x 0.236 =
43 0.0007 x (—38.5) = 8 5 X 197 =
) —0.002 x 17 = w0 —3 x 161 =
55) 5 % 14.92 = 5600 (0.0005 x 446 =
56 —0.004 x (=370) = 6 —1 x (—=3.56) =
w1 0.03 x 0.208 = w2 —0.8 x 0.76 =
5 6 x (—0.0332) = 63 —11 X 0.38 =
w9 0.9 x (—0.39) = 69 —9 x (—0.432) =
5500 —0.01 x 0.0129 = 569 0.3 X 1.44 =
551) () X 259 = 566) (0.04 x 4.48 =
2 0.4 x (—0.361) = W =1 x (—4.87) =
553 —(.7 X 476 = i65) —0.07 x (—38.5) =
w1 0 x (—=1.16) = 569 —0.01 x 47.8 =
5 0.2 % (—4.37) = 70 5 X 58 =
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